
 W W W.INCREMENTALTOOLS.COM              © Tay lor Design Group, Inc. Al l R ights Reser ved.              Made in USA              rev9/23              1.888.804.6272   

www.incrementaltools.com

INCRA PARTS & COMPONENTS/

Table Saw Fence SystemsINCRA TSIII Ultra Standard System

> Continued on next page for list of components.

9

4

1

Standard 
28.5”

XL 34”2B XL 40”2C2A72” Rail3A

92” Rail3B

5

10

Standard 
36”
XL 46.5”6B

6A

7 Sub Fence Mounting 
Hardware

8

11
12

17

18

19

21 22 23

24 25 26 27 28

13

14
15

16

29
20



 W W W.INCREMENTALTOOLS.COM              © Tay lor Design Group, Inc. Al l R ights Reser ved.              Made in USA              rev9/23              1.888.804.6272   

www.incrementaltools.com

LIST OF COMPONENTS:

ID# 	 PART NUMBER 	 NAME OF COMPONENT								         	

7

10

Ultra32 Base and Carriage Assy Complete

TSIII Standard Base Support Panel, 28.5”

TSIII XL Base Support Panel, 34”

TSIII XL Base Support Panel, 40”

Rail Extrusion, 72” 

Rail Extrusion, 92” 

Fence Glide Assy (Infeed)

Knob, 1/4”-20 x 3/4” (Infeed Fence Glide)

TS-IIIA Standard Rip Fence, 36”

TS-IIIA XL Rip Fence, 46.5”

Sub Fence Mounting Hardware Pack

Nut, Rectangular 1/4”-20 (Narrow Body)

Fence Glide Assy (Outfeed)

Rail Stop Set, Floating Pair

Base Clamp Glide Pads (Black), Pair

TSIII Base Mount & Rails Master Hdwr Pack w/ Hex Tool 

Base Clamping Knob Set

Knob, 3/8”-16 x 3/4” Stud

Nylon Spacer,  .750 x .406 x .200”

Nut, Rectangular 3/8”-16, Dual Pilot

Rail Stop Set, Std Pair

Nut, Rectangular 3/8”-16 

Ultra Master Hdwr Pack

SOLD OUT 

PTSL-600400

PTSL-600500

PTSL-600600

PTSL-600700

PTSL-600800

PTSL-700100

PKNB-100200

PTSL-600100

PTSL-600200

PFST-800100

PFST-200300

PTSL-700200

PTSL-800300

PTSL-500100

PULT-800200 

PTSL-800400

PKNB-100700

PNYL-300100

PSFT-200500

PTSL-800200

PFST-200400

SOLD OUT 

15

12

13

14

8

9

4

5

11

16

1

2A

2B

2C

3A

3B

6A

6B

19

17

18

> Continued on next page for list of components.



 W W W.INCREMENTALTOOLS.COM              © Tay lor Design Group, Inc. Al l R ights Reser ved.              Made in USA              rev9/23              1.888.804.6272   

www.incrementaltools.com

LIST OF COMPONENTS:

ID# 	 PART NUMBER 	 NAME OF COMPONENT								         	

Rail Mtg Brackets, Pair w/ Rail T-slot Hdwr

Lexan Scale, Auto Centering

Lexan Scale, 0”-16” (Left to Right)

Lexan Scale, 16”-32” (Left to Right)

Lexan Scale, 16”-0” (Left to Right)

Lexan Scale, 32”-16” (Left to Right)

Lexan Scale, 48”-32” (Left to Right)

Lexan Scale, 64”-48” (Left to Right)

Stainless Steel Scale 32”-0” w/ Magnetic Tape 
(fits late model carriages only)

Base Clamp w/ Pad (ea)

PTSL-800100

PSCA-AC

PSCA-0016R

PSCA-1632R

PSCA-1600S

PSCA-3216S

PSCA-4832S

PSCA-6448S

PSCA-3200SS

PTSL-600900

23

20

21

22

24

27

25

26

28

29

Refer to the part number(s) when ordering. To order, go to www.incrementaltools.com or call 1-888-804-6272. 

PLEASE REFER TO THE WEBSITE FOR THE LATEST PRICING.


